More Prachie Shax 3 Name .

Solving Linear Equations

Do all problems in notebook.
Check each answer by substituting into original equation.

DO ALL OF THESE:

. 5 (x +4) = 40
Pt | 2. ®2@3y-7) =156
T 3, ©6(1—4w)="18
4, ®4@2x +5 —8=236
S ®2(5-3v)+9v =28
6. ®7-3(5t - 10) = 67
7 ®-9(6 + u) —2u = ~10
2 @D13x +7(3x — 1) = 763

CHALLENGE YOURSELF WITH THESE: P, - 2.

15— (4m - 5) = 32
©—2(7k +4)+9="13

mys5="2
@-5y - 5(76 — 2y) =0

@ 3Bx1+4="2

®3(1+4n)—2(5n —3) =25 4
® 6 (x-2)+4(3-6x) ="36 ©-9-7x="5
@54 + 2x) — (8x — 12) = 68 ®12-2y-4

@-3("4-6y)+7(y +5)="8
Mg 2w -6)+4("1—-5w)=0




